¢ FLYCOLOR"

REEERAFR | AFRIEERX , HIRNERTESHASGENRERL , BUENEEERRSEFHARRE
RARHET  FRETNENRFER. ROFAKERERAT REEEX =R THIER5 ROEMSEE , 8150
TRTFIHIFIRARAIRK OB ERE. RAOENEFZBNNER TRE- R SML. MERERER.

01 ==

o E3ARAITHAEIRAC8051F390 MCU , 8{71C8051#%y , TIFSRZEIA50MHzZ ;

o BERAEAN=E—RMNIC, REER , MRE/NER, BEXERE0HEE;

o IRENRERNEY ;| BRI EZARARENEHERE  SARERKESEDM-ENTR A VTERE. LENERE
B2, REFR, BEHE;

o F3k#x , X#PPM, PWM, SBUSEH FiiBf/sulE ;

o KIRERROSD , FEKEMSY. 12V IUREIMBEBATY) , HELEE. JiEk, #1388, LEDITFIMNRMHE ; FrEREELI9E
Bk , BERIFFRENRERE ;

o (EFABLHeliFFRIER ; BAi\Damped lighttl={, , ¥FES , BERFIAIIMALERE, HIITAKENE(CES | FEBALRMEEN R E N
&, ShERREMNRIEEERIREM
B, FEIEATHER

o BBIA LB AAIENIHIIES | IFBEMIIER1-2msHIBKEH A | oneshot125(125-250us) , oneshot42(41.7-83.3us)H
multishot(5-25us),

02 =&

Bng FFEREER BERTERIR(10S) BEC SRE BT EL =8
Raptor 390Tower-20A 20A 30A No 2-48 19.5g
Raptor 390Tower-30A 30A 40A No 2-48 19.5g

ZheE biTas

Zo Rl S F AR =R 1 B P
Raptor 390 Tower

390 Tower
BLH

RAPTOR
eli

RI#te®)

41.5x36x15.1mm

41.5x36x15.1mm

HENBIRSE)
130-3305liE 8

170-4503 g

*Raptor 390Tower EBIE{EFRIBLHeliE {4 /9Flycolor Raptor390 20A Multi ; K15 ESPRACINGF3 ; BB RFlycolorb KB E S5 4.,

03 wise/zERT

2= FES HE
@ | massoma—wm 1
® | ®&= 1
® RIS M3*5+6 a
@ | Rrgswms 8
® | BT M3*12 4

FEIRERSE |, FIMRE T

—HR10PIn&ER (10p SH1.0i%F ) , AFPWMEREPPMED ;
—1R3PinZ&3R (4p SH1.0i%F ) , BFSBUSED ;
—HR6PinZIR(6p SH1.0i%F) , FAFLEDR NSRS,
=1R4PInZR(4p SH1.08%F) . ATARNER

IR3PINZIR (3p SH1.0iF ) , AFARMNEREGL

36

[E—

[]
]
30I:5

< EE

.
-

.
-

SBUS &zt =@ N

FHRGREMFR  GEBOOT—.,  Smart Port {55184

O 8GO O
—RX &—[Buzze

oo . * SBUS D . 55V

& § 25V | s o g

—1—{ GND| LED

& o
BRENSERE| ADI 9| |[S & D [] 1—|GND
RSS! #uEAf |AD2[~ 07 =]
v 182v 12 =
onol B / E il
ERe e / : [ ]

i 0 {0 fh N
CEEEL B Bt —
Olegrss — O *g7 O 5

ISP BRIHO —
(OSDEXETR)

0 Ll
N
h

PPM#&3{ RE

FHRCISE MRS , 585BOOT. Smart Port {SE18#

O [fﬂzz @ O

GND — | A— RX g—{Buzze )
PPM | Zley oo i 3 Tx . 55V |EI8E8
BB cht |5 o %3 Eolsv |UART3 b

EE
T f
N

{—1— GND| &5 1 a3 o
BN IERE €| AD1— 9 |
RSSI HiEEE |AD2[ 10

ISP ERIHA ——
(OSDEKET )

[ fh {0 dh {h N
Esse ) o
NATRRLTRN! S|

-
" B 12 [
D PELE / :E o
o - : [ ]

i PWM &=t RE

FHRCIRERT |, JEHZBOOT, Smart Port (551242

T ©
DQH@?D/O O
salsy D S
Lo UART3 Buzzer

spot I
42
Qo
L<x
o
o
H
Il
Qo
n
5=5
-
m
o

IR WTRIERELR | ERASCIMAMERERONLFS T
EEONLFEMMEXER, NRENEEHBGLITERRTE

BANRT , WIRERAIERTENRE. @*mym%g P

04 sER g ~EE

AHERH
A#EBHL

2#8H
2#8H
2#8H

A#ERH, o BIREERRIFNEERA , (EAMZE
TR G FIR RIS T E T Z IE5EEE
o B RRRINIRAE  ERRERLBERYT ;
IR RIS VBRI ERMREIER ;

/

ISP IRRiHO —— S = =
{0 dh (0 dh :ﬁ:g +

DD@@@@@ O Bt GNg

(OSDEMER)

RS NRIEEL AD1—9 [
RSS| #iEEfE ADZFE/ e D 3 S =) D
" anp| & / Es;:, 0

PWM | EHit | —3
= g
WA CHE 5 & oy
gisr—e= E " i
—7— o —
cHe |5 e [ 2
82

o
=]
=]
=]
a

- /

05 sxr==m
o ERFALRIB AR ERERREEHEHITHI VTRERE ;
o {FABLHelFFRESF , HEHENREREERKIESHEN , IRXBEXHBSE
o TiEIY KIEEEBLHel A2 %4 (BLHelisuite) A R &R ABLHe i FHRER ;
o TICHARMEHE TR , HBZA—EERSRE.
o TEHRIR A MUTATIERERT | IBXABIR.
o 5V 12VREEATFRINFRIZE (S5VERKATA 12VERAR500mA , 12VREZINETFESL) .
o LU — LR EIS e R ER R EL , RINEELT/FERII =R,
o KIxEimE— IR R .
 IIEFEZEE  BHR CRERERRERAZIS.

e

Q4 ®
F Rl TR A (G FLYCOLOR

www.flycolor.net



¢ FLYCOLOR"

Thank you for using our product . Any Improper operation may cause personal injury damage to the
product and related equipments. This high power system for RC model can be dangerous ,we strongly
recommend reading the user manual carefully and completely. We will not assume any responsibility for any
losses caused by unauthorized modifications to our product. We have the right to change the design,
appearance, performance and usage requirements of the product without notice.

01 Mmain features

e Using C8051F390 MCU ,pipelined 8-bit C8051 core with 50 MHz maximum operating frequency;

e Using dedicated 3in1 drivers, faster response, small size&lighter in weight. ESC maximum speed is limited to 400k eRPM;

e Two layers tower structure between the 4in1 ESC and FC with quick pin connection. The interference caused by the signal
transmission is reduced to the maximum extent, and the flight is more stable, make the whole weight lighter, and the
installation is faster and more convenient;

e Standard F3 flight controller, Supports PPM, PWM and SBUS remote control / receiving mode;

e FCintegrated OSD, alsointegrated 5V, 12V, and battery voltage (VBAT), Easy power supply to Image transmitter, camera,

buzzer, LED and other peripheral ; Provided all kind of cables for connectors on FC , to give you an unprecedented
experience of installation;

e Use BLHeliopen-source firmware; Using “Damped light” mode , it improves the throttle response, when reducing the throttle

amount, the Motors slow down rapidly. It strengthens the stability and flexibility of multi-rotors, quite suitable for QAVs.
e Supports regular 1-2ms pulse width input, as well as Oneshot125 (125-250us), Oneshot42 (41.7-83.3us) and Multishot
(5-25us). The input signal is automatically detected by the ESC upon power up.

02 Specifications

Burst Current

User Manual

Multi-Rotor Brushless ESC
Raptor 390 Tower

RAPTOR

Bridged “BOOT”
forrecovering firmware

Smart

Typical Applications

Model Con. Current (108) BEC LiPo cells Weight (Forri}éfence) fFor refarence)
Raptor 390Tower-20A 20A 30A No 2-48 19.5g 41.5x36x15.1Tmm 130-330 Multi
Raptor 390Tower-30A 30A 40A No 2-48 19.5g 41.5x36x15.1mm 170-450 Multi

*Raptor 390Tower ESC is using the Flycolor Raptor390 20A Multi BLHeli firmware ;F.C is using SPRACINGF3 firmware;

Please contact Flycolor for more information.

O3 Part list/ Install Dimensions

Dimensions(mm)

Iltem Description Qty.

@ | Raptor3904in1 ESC 1

® | Flight Controller 1 >
® Nylon spacer M3*5+6 4 @/
@ Nylon Nut M3 8 @/
® Nylon screw M3*12 4 @/

For quick plug, Flight Controller additionally provide: :
one 10p cable (10-pin SH1.0 terminal) for PWM or PPM connectors;
one 3p cable (4-pin SH1.0 terminal)for SBUS connector; z
one 6p cable (6-pin SH1.0 terminal)for LED and Buzzer. (%)
three 4p cables(4-pin SH1.0 ) for different brand Image Transmitters.
two 3p cables (3-pin SH1.0 )for different brand Cameras;

Attention: For these quick plug cables, please confirm the wire
sequences on your devices’ connector are corresponding with the
Flight controller before connecting. If the terminals are not fit your
devices ,please make a modified connection to fit.

*All pictures are'for reference only

04 connect diagram of ESC and FC

(ESC o

eAll welding requires good welding technology,
short circuit between the element
or the wire should be avoided at any time.

ePlease ensure all solder joints are insulated
with heat shrink where necessary.

ePlease double-check the polarity is correct

O
oo O Un 0 O
‘9%44 O{Or 3 DD
%, 4#Motor
4#Motor
Battery V+—— 4#Motor
Battery V- 2#Motor
2#Motor
“\0\0& 2#Motor before power up.
N “\o\°(
AK awj\d‘o‘
N

\

/

SBUS Mode

Port Pad

BOTTOM

s =

4—{RX &
SBUS . 5
E (—2—5V [receiver| Z\Z:’
|- 1—{GND &0 +—3—LED
GND 12 5V LED
D 1—GND
=
s —
Am
ISP programming — Rt :Ei’?{'v DD
X aho
(OSD Debug) aND Lnong VBATA l:l
Image VBAT + —
O DD O transmitter| GNg O [ O
< TOP PPM Mode BOTTOM
Bridged “BOOT”
for recovering firmware Smart Port Pad ey
T 0
O Ml /D/Q O[] O
4—RX 6
pem | G0 1 oo N, 3 TX D . 5
receiver| . — B F [ o 15v |UART3 v
ot 5 oo [ " GND) iy 4—
Cha 50
Chis &o +—
Current meter | AD1— 9 — b7 1
RSSI|AD2[~ 107 = D
e [
g
ISP programming —| BX verr DD
(OSD Debug) ™ nnong VBAT- ' l:l
Image VBAT + [
O DD O transmitter| GNg O — O
4 PWM Mode
Bridged “BOOT” TOP BOTTOM
for recovering firmware Smart Port Pad [
IR D
sy (O Bla-al O O O
5V —2 A4— RX 6
PWM | CHII—3 ano ., 3| TX . 5
receiver| G5 g & : R o |5y |UART3 gy
Cl ars N &° T-3|LED
EE% ano 4—2—5V | LED
1—GND

ISP programming —
(OSD Debug)

-

VBAT-
Image VBAT +
transmitter| GNg

OB Attention

e User need to calibrate the throttle range when starting to use a new ESC or another transmitter.
o BLHeliopen-source firmware, when some abnormality occurs in ESC driving the motor or need the motor to reach a higher RPM, user can try to

change the timing.

e User also can connect the flight control to the computer to update the firmware or change the setup via configuration software (BLHeliSuite).
e Observe polarity at all times. Check and double check before applying power.
e Power off before unplugging ,plugging in or making any connections.

® 5V ,12Vsupply is for low-current use only(5V 1AMAX, 12V 500mA MAX,12V is suggested for camera only).
e Keep magnets away from the Flight Controller.
e Do everything you can to prevent vibrations.

e Please contact Flycolor sales or technical support for more information.

User Manual

Multi-Rotor Brushless ESC

¢ FLYCOLOR"

www.flycolor.net

251400-1058-02



	页 1
	页 2

